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05 4,075 6,265 10,350
0.55 4,347 6,265 10,620
0.6 4,527 6,265 10,800
0.65 4,799 6,265 11,070
0.7 4,980 6,265 11,250
0.75 5,252 6,265 11,530
0.8 5433 6,265 11,710
0.85 8,170 6,265 14,440
0.9 8,622 6,265 14,900
0.95 9,109 6,265 15,380
1.0 9,561 6,265 15,840
1.05 10,104 6,265 16,380
1.1 10,590 6,265 16,860
1.15 11,133 6,265 17,410
1.2 11,767 6,265 18,040
1.25 12,310 6,265 18,580
1.3 12,886 6,265 19,160
1.35 13,520 6,265 19,790
14 13,909 6,265 20,180
1.45 14,271 6,265 20,550
15 14,633 6,265 20,910
1.55 14,996 6,265 21,270
16 15,448 6,265 21,720
1.65 15,810 6,265 22,080
1.7 16,173 6,265 22,450
1.75 16,535 6,265 22,810
18 16,988 6,265 23,260
1.85 17,350 6,265 23,620
1.9 17,712 6,265 23,990
1.95 18,074 6,265 24,350
2.0 18,527 6,265 24,800
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0.5 4,775 6,265 11,050
0.55 5,280 6,265 11,550
0.6 5,616 6,265 11,890
0.65 6,121 6,265 12,400
0.7 6,458 6,265 12,730
0.75 6,963 6,265 13,240
0.8 7,299 6,265 13,570
0.85 11,747 6,265 18,020
0.9 12,588 6,265 18,860
0.95 13,463 6,265 19,740
1.0 14,304 6,265 20,580
1.05 15,314 6,265 21,590
1.1 16,189 6,265 22,460
1.15 17,198 6,265 23,470
1.2 18,377 6,265 24,650
1.25 19,386 6,265 25,660
1.3 20,429 6,265 26,700
1.35 21,607 6,265 27,880
1.4 21,140 6,265 27,410
1.45 21,814 6,265 28,090
1.5 22,487 6,265 28,760
1.55 23,161 6,265 29,440
1.6 24,002 6,265 30,280
1.65 24675 6,265 30,950
1.7 25,348 6,265 31,620
1.75 26,022 6,265 32,300
1.8 26,864 6,265 33,140
1.85 27,536 6,265 33,810
1.9 28,210 6,265 34,480
1.95 28,883 6,265 35,160
20 29,725 6,265 36,000
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